‘‘‘‘‘‘

e o 2 1t < PRk s

. oy o

L RERS S FERVURLUERIIIRIN L HTGHE

< CHUROSH SRR NEOVRE SEVNEHILSEO- Wesesifecse ¥
o EEEHRE S 8 | e iy 5 -

. PR AR I N TN B TR S Y
m

bl RE {eRH(ERS O

SHNEFE

BIETHIIILENFR

| FHE<IhWE OV I N8
REQH QIR EHE O v S 44" EmE
o <P QDB WL S o <
fhH B WWEINT HRHENE S ¢EK
BRS04 S 36 4°

RIZ S W NEK O YUImLOHh KT 2
B QRSN S 4" Kui 127 b
USSR | e NEEwSL” RS
EOS WS4’

Tl — RS K

A8 W b

2N

FOOREmRL
RN S NS
LNLN

H # S 4 & n0®

O WL 0 W E MW

EREROBURRIKL LML°
HhOw DU HME°

N—ANT

NE QUGS R D

BE R U LML’
NN
ARL = A(L°
0L

ASNGR B 0500

QKM L e Q N0 °
B0 U
RERL L x) 0
W RR
A8 L a0° (] R2w-n])

LU QAN O VD O L Ah A Ea
OMNHQIERE KL o Hxon
RIBOGIT RE VR L 004
T AA0A D QSN0 QA
SHKRY FRKEENYRIV L
A EIE | [E KB WY S A

K RR S EIFRVULLUES
{SEE N U000 H SR QD
BE SV ORLESQT—] WA
RN =XKL @ ESF V45
ST SNV LS SO

Y WERM (peid ()

M e EW S ()
i &RC=RH (1Y)

EE ey () 9E

i KRR BBEARES ()
INT A e N R () )

EEr UBEoRE=< ()

R R-DHN0 DG S D

K e K (KES~=)
WK o R (kB L )
= R RHGRYE)

LK R K GRH)

EEH B RKYEsrHdEmsss)
wE K RH(EELYD)
i Eb R (BEEL~D)
BE R R (FFESw)
ol S+ K Grd)

HE Fos £ Gkd)

OK Kr o)~ (s s O v i~ =)



3* # * * ¥* # 3* # 3* el H I * ¥* * * #* *

=70 6fEJ§®jEEy/J\®$QH§kEE?ﬁDﬂé@’Cb VZIEEE T,

14 248 34 BENIOKYE - A
148 Pz RT Ak B9 Wi BE A —3R ()
24 e R WA BHOH st =0 Blg %% ()
34 =3 EBA =E B Ar 5= THA KRBT (EHEED
. BE =25 =) = = =8 mE I8 RIS
ZBE PE 29 g S EENE)
54 BB 75 R B =8 =5 Bk EEILaRISES)
6 4F A AR o DA T W BE  ROAZHN=EY)
567881 | 5B 83K B | 64 EWL = | 7@ TH 5 | S B 4 | @D BE@EETHEEER
Sc O BEAEEDD £ LT (i) | AB ST @OESTHERER
a 2 = B T D ASE TT)
= 2 YERE (b A < BEEER
grfﬁ@®54z\ 8:15~ 8:35 Bl FEEWABEATT - HBEH)
" - )| =T (EEEER)
1 RE A 8:35~ 9:20 X0 HESHEEDE)
2 e B 9:25~10:10 AN 0L EERHE)
VAl H —~ H
Rk LF A b 10:10~10:30 [ ———
3 K A 10:30~11:15 BH H=OEHERDE)
kel 11:20~12:05 Bl BOE HERHE)
PN 12:05~ 1:00 r E=
5L 1:00~ 1:15 Kid BERTF(EH
Bk 1:15~ 1:35 BN 89 (REa)
5 efil A 1:35~ z:20 PR T (CERDE)
moos | oFME | 225 Ry 0% z~.zz:5'5 B EREERADS
2:25 ' y —
~3:25 | B2 ~3:
— 27 £= %7 (ST
. T8 3:35 T2 3:35 =Y 4k (ALT)
1080k BE2FS
118 4588 pasy
48R D“%‘t E =Tk 11 - 45 108 (&) 5isREE
AZT 128%) 15 HLERA 208(1) PTAZER 9: 40~
58& IBERE reL 16 8(WN) R WHNFEFHBE= 101 10~
—B ™R 11:40 RIENLSIE REIE (6 ) B ¥ £ & 10:50~
SO 2~648 #UES5 16 8 M) ~17 B Bl=E LIlE 11 : 50
B i (E2H) RESR - BRIEHS 228(8) 20 BOAK
184 1130 ™R 13 :30~16: 30 24 B0K) AZZEHROA
L~10 8K FT» —=F K 13:05 25 BN) 1HNZEZENE

9B ZHEE 18 B (K REEHRS - BRBHEFHE



